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Determine the row operation performed to obtain K e sl L aliall @03 3 caiall 2dae sus
each matrix EEPV-DEV
1. 1 8 —§' 3 1 5 —6' 3]
0 1 3. =2| => |D 1 3§ =2
0 -1 2. 1 0 0 | =]
A. R>-Rj3 B. R>+ R3 C. Ri+R3 D. Ri+ Ry
Determine the row operation performed to
obtain each matrix i
5 3 1 -5! ¢ 5 1 ' 4]
' o, =1 4'-F| —» |Jo -1 #£2-2
glagfl=3y 1 2 2 7!-7
A. -2Ri1+ R3 B. -Ri+Rs3 C. -2R>+R3 D. -Rs3+ 2R3
Determine the row operation performed to obtain K e Il L aliall @3 3 cavall 2lae 30
each matrix EEPY-DEV
1 15 2 4. 14 1 15 2 414
3. 0 8 5 -5:15 |0 85 1:H
2 | 0 Ih:in 2 1 0 16120
3 ~-11 -1 6 -4 0 34 5 18138
A. 3Rs+R: B. 3R;+R: C. -3Rsz+R: D. 3Ri+Rs
Determine the row operation performed to obtain I e Jgwaxll L aliall @5 Sl cavall Aulac su>
each matrix Lgdmo
8§ -2 0212, =2 8§ -2 0 2 12,;-2
4. 8 5-71 6, 9|=—>| 0 7-7 -1-6, 1
1 0 93 3, 2) 1 0 9 3 3! 2
A. -Ri+R; B. -Ri+R; C. -Ri+R; D. -Ri+R;
fA=[8 1]andB| 3. ~7]= then Find ~ =7 ~
= andB| -, |= thenFin 51BASAB sl B=| T SA=[8 1] sl
; AB and BA if possible oS!
AB= Does not exist AB=[19 —54] AB=[19 —54] AB= Does not exist
BA=[19 —54] BA = Does not exist BA=[29 —54] BA = Does not exist
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The inverse of the matrix [g :2] if possible oSl 131 [g :2] d8g8mnll LugSea s>l
6. ; _5
-4 5 2 -6 5 -
A L—S 6] B 7 C. L—S 4] . Singular
-~ 2
2
The inverse of the matrix 4 2 1] I 402 1] il yeeSas azl
. . 2 3 5 2 3 5 <l sl
if possible e ot = ‘ Co ‘ oSl 13
7.
4 2 1 6 -1 —4 1 7 4
A [ 6 -1 —4] B [—2 3 5 ] C. [ 5 -3 —2] D.. Singular
-2 3 5 4 2 1 -4 4 -4
The value of n such that the system represented by
I Bohunally Jiaall pliil S Sy ¥ Capny 1 asd
the given augmented matrix [ | ] can not n —8161.
1 213 o | . |3]WMJ|
8. | solvedis
A 2 B. 4 C. 6 D. -2
The value of n such that the system represented by
Bohunally Jiaall plail U oSy ¥ Capny 1 dgd
. 3 n| 4 . £
the given augmented [ | ] matrix cannot 3 n| 4
n 20-5 o[> 5] dzwgall
9. |solvedis noa=
A VB 5. V6 ¢ 1V6 . 16
The value of n such that the system represented by
& _oi3 Bgaunnll Jiaall pladl J> oSay ¥ Cumy 1 dosd
the given augmented [ | ] matrix can not 5 _913
n nlll o [ |11] dzwgall
10. | solved is non
A 0 B. 1 c -1 D. 2
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The value of n such that the system

d8gb.nally Jianll ol J> Sy 3 Cumy N dayd

represented by the given augmented

n —njo0 ;
11. [ | 0 ] matrix can not solved is [7 n|—8]
7 nl—8
A. {_7} B. {0} C. {017} D" {01_7}
The coordinates of the triangle that has the 0-2(25) . K(L3)
chal asy L(0.-2)J(-2,5) , K(1,3) indl Gwgby OlSlas]
vertices J(-2,5) , K(1,3) , and L(0.-2) after g
oo 1.5 Jolzoy dJ 3343
12. | adilation of scale factore 1.5 are )
A. J(-1,25),K(0.5,1.5), L(0.-1) B. J(-3,7.5),K(.5,4.5), L(0.-3)
C. J(-4,10),K(2,6), L(O.-4) p. J(2,-5),K(-1,-3), L(O,2)
The coordinates of the vertex D in a squre that AC-13) U mpall § D ulyll Ll
-4 y dw 5 6 d Lg - «“ 8>
has the vertices A(-1,3) , B(3,3), C(3,-1), and 9 SM gl Yool e
sladay &))A.U a3l chy>l a2y B(3,3), C(3,-1) ,,'D(-1,-1)
D(-1,-1) after a translation 1 unit left and 2 units
13. ) o Jawl s> 99 slad) 81219 83>
down is -
A. D(-2,-1) B. D'(-2,-3)
c. D@,2) D. D'(2-3)
The coordinates of the vertex A in a squre that AG-1,3), dwsds (sill gosal '3 A Goll SL3las
has the vertices A(-1,3) , B(3,3), C(3,-1), and Js> 8*"““ Lol Jac 2 B(3,3), C(3,-1), D(-1,-1)
1. D(-1,-1) after a reflection over y-axis are by I
A.  A(-1,3) B. A(1,-3)
c. A(-1-3) D. A(1,3)
The image of the triangle PQR that represented by 3 -1 1
_ A%y d9g8.:a0lls duwgdy Jioodl Edinll 3
the matrix [3 11 ] after arotation of 270° ) [2 4 _2] P e
2 4 -2 b deludl Oylae GuSe 2700 lxday d 595 clyal
15 counterclockwise about the origion is i

2 4 -2 -3 1 -1
A. -3 1 _1] B. [—2 -4 2 ]
C. B _41 —12] D. [g —41 ﬂ
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The equation of the Parabola with the vertex

(0.1) . focus (0, 4) o (0.04) 315 (00 1) ol s3I 1l gl dsleo
y , TOCUS , IS

16.
1 1 1 1
A- :——2 B = — 2 C :——2 D :—2
YT Vi Y=Y YT 12"
The equation of the Parabola with the focus dslrog (1,8) aisy s Bl ghill dslze 12l
(1,8) and directrix y=2 is y=2 dlJds
17.
A. y—5=i(x—1)2 B. y+5=i(x+1)2 C. x—5=i(y—1)2 D. x+5=i(y+1)2
12 12 12 12
The equation of the Parabola with the ) .
(9,5) dissss (9,16) dwl s3I Sl ghill dslzo s>l
vertex (9, 6) and the focus (9, 5) is
18.
A. y—6=1(x—9)2 B. y+6=1(x+9)2 o y—‘)z—l(x—6)2 D. ;\c—9=1(y—6)Z
4 4 4 4
The equation of the circle with the center layhd Caunsg (-3,1) dhail lnsSye Ll 855080l dslee
(-3,1) and radius 4 is 4 solun
19.
A (x+3)+(@y-1%=16 B. (x =3+ +1%*=16
C. (x+1)%+(y-3)2=4 D.  (x+3)+(y-1*=4
Fhe radar for a county airport control tower is located at (5, 10) on a map. It
can detect a plane up to 20 kilometers away. Write an equation for the outer limits of the
detection area
00 8x3lll @890 33 diSayg ¢ dagyil Lle (5010) dnadl § géy Joall s3>l Hlae § Ol d8lyo g oS 131
sl lgabsy Sl ddliall Jios dsleoe ST, 3850l o sie S 20 sy e
20.

A. (x—5)2+(y — 10)? = 20 B.  (x—25)2+(y — 100)? = 400

C. (x—75)2+(y—10)% = 400 D. (x — 25)%2+(y — 100)% = 20
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The equation of the circle in the following

b JS2l 3 dogunsall 8513l Aslze

figure is
~70
-4
21. .
B
A (x+6)2+(y—3)2=5 (x—6)*+(y+3)*=5
C. (x+6)*+(y—3)2=v5 (x—6)*+(y +3)2 =5
The center and the radius of the circle 83,5131 58 Caunig 3Syo
2x% +2y% —4x + 8y = 32 2x* +2y% — 4x + 8y = 32
22. | A, center (-1,2),r=21 center (—1,2),r=+v21
C. center(1,-2),r=21 center (1,-2),r=+v21
Write an equation for an ellipse with vertices (—4.0)(4.0) dwgs, S pasUl &bﬂl dslze S|
at (-4, 0),(4,0) and foci (2,0),(-2,0) (-2:0):(2:0) 4,899
23. 2 2 2 2
ALY *x Y
16 12 16 12
2,2 2 2
16 12 12 16
The equation of an ellipse in the figure o JSal 3 sl &hdll dslzo
=8
24,
2 2 2 2
A — Z——l _ X——l
32 81 81 32
X2 2 X2 2
81 32 32 81
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The equation of an Hyperbola in the figure

| + + | - 4 -
0 {4, 0)f (5, 0)
a | & Bx
1 | S

b JSal § 23l ghaill dslee

25.
2 2 2 2
16 9 9 16
X2 2 X2 2
C. __|_y_:1 D. __|_y_:1
9 16 16 9
Which of the following is the graph of Ul oy o2 JUI (10 le
y=(x—4)2—6 y:(x—4)2—6
—10
B ]
A. 0 B.
5 0 2
.26 72
e 5
C. 1 D.
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The solution of the system of equations o dJUl Wdsleall a5 J>

x2+3x=—4y—2 x4+ 3x=—4y—2
- y=-2x+1 y=-2x+1
A. (-3/ 7)/ (-21-3) B. (3/'5 ) ’ (21'3) C. ('317) ’ (21 3) D'- (3/'5 ) ’ (-215)
The curve of the given parametric equations is ot A ddarew o)l 3sleall Jslsall imiall
x=t*+5, y=%+4;—4§t$4 x=t>+5, y=§+4;—4£t$4

A. B.
28.
C. D. None of them
o 8 | X
If  Eiman is pushing the handle of a lawn mower sl 3> adse Glasl 53.»
with a force of 450 newtons at an angle of 56" with the f .« e e “ e
ground. 4.)9')) o 450 LO;)LLQA 099y
The magnitude of the horizontal and vertical sac 383 axgl . yoy 3l & 56°
components to the nearest integer number for the 4003l Syl 5lase o
29. | force in the figure are 8oall dwolsllg
A (252,373) B. (373,252)
C. (190, 408) D. (408, 190)
Find the component form of AB with initial point A(—4, 2) and terminal point B(3, —5).
2 B( 3. - 5) dislgs dhaisg A(- 4 ¢ 2) dislsy dais 0885 Caumy AB doiall &Syl 8yl

A <1,-7> B. <-1, -3> C. <7,-3> D. <7,-7>
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Find a unit vector u with the same direction as v = {—2, 3).

v =< 2,3 > ol Guds d il U Bamgll ania 539l

2 3 C. v v
LA <> S
13° 13 13 ° 13
N N 2 3
B, _AV13 3V D. <-— >
13 ' 13 13 "13
The angle 8 between u and v to the nearest tenth of oo Badae o £33 WbV g U Cugxinll oo 0 Dol Al
ad degree >
u=-2+3j,v=—-4-2j u==4+3jv=-4-2j d>yall
32. B
A 0 =1729° - 8 =829°
c. 6=757° D. 6 =29.7°

33.

If y=<3,-6,2>w=<-14,-4>
,Z2=<-=2,0,5>find2w —z + 3y

y=<3-6,2>,w=<-1,4,-4> 413l
2w —z+ 3y a9l ,z=<-2,0,5>

A. < 9,-10,-7> : <5,-10,-7>

¢ <09,10,-7> D. < 9,10,7>

34.

If N is the midpoint of the segment MP,
M(3,4,5) and N(% ,1,2) find the coordinate of P

A P(4,-2,1)

M3 ,4,5) Cus MP Caniin dads N ClS 13
P bl ol s2sland N(Z,1,2)

7

P(2,1,2)

C. p(14_3,2,§) D. P(—41,-1)

.35

fu=< 3,-2,1>andv =< —-3,3,1>find If u Xv

L u=<3,-2,1>J _eniell il gl ol
v=< -3,3,1>

A. <5,6,-3> ' < -5,6,3>

¢ <5,-6,-3> D. < -5,-6,3>
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